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AR A OV AT

- I/PART -1

wTe farenTa va e fafi
CHILD DEVELOPMENT AND TEACHING METHOD

1. AR ey wen 3 e o1 ) GRS T16F % 9 1. Ifateacher finds a problematic child in the
4 U R, @ 3) class, what should he does ?
(1) ThTe SR aTqd St 31 =Ry (I) Send the chlld back to home
diately '
2) =2 T TN F AT TRY gy
(3} et S (2) Ignore the child
3) 30 = wIfR (3) Punish the child
(4) == I WA AT TRy (4) Provide counselling to the child
2. rgg-gemdt R gera: gty @ 2. Co-curricular activities are mostly related
(1) BT % gHfys o d to
2) oHE % galfo fREm (1) Mental development of students
3) . 3 (2) All round dcveloprnen.t of s-tud.ent-s
s (3) Development of educational institutions
(4) BE % g fawma & (4) Professional development of students
3. Fmd3 e sl g = wftares = fomm 7 3. Whom of the following has not propounded
(1) e e @) = the lemnlng theory ? .
(1) Thorndike (2) Skinner
(3) IR (4) =hum. =m . (3) Kohler (4) “B.S. Bloom
4. e o sraivA &1 argd ‘% 4. Meaning of stagnation in education is
(1) Tt STt 1 G ad | 31{% 99 aF TF (1) Retention of a child in a same class for
2 e 1 more than one year
2 - — (2) Not going to school by the child
" (3) Taking not admission in school by the
(3) =rae F1 faemea § yawm 3 o " chid Y
(4) aree 3 formerg Big 3 (4) Leave the school by the child
5. =73 forg e # qd 3 o1 g amar @ 7 5. In which of the following skill, testing of
(1) eyl Fie previous knowledge comes ?
©) - (1) Skill of demonstration
(2) Skill of introduction
(3) IEA-gfEdq wiva (3) Skill of stimulus-variation
(4) THIA I (4) Skill of closure
6. =i fora fagra =1 gsier w1 g ff e & 7 6. Whichof the following theory is also known
(1) Toran v avgeeem R as Theory of Reinforcement ?
2) T wm (1) Operant Conditioning Theory
(2) Stimulus Response Theory
(3) el AT ferar (3) Classical Conditioning Theory
(4) g3 = fagra (4) Theory of Insight
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= § 8 F-dt e TR & aymes fAwm
e s amaEi e ?

(1) forarenes s

(2) wiferarores e

(3) AT T FFET

(4) HehdTcHs STaTdT

WA = e &R & Rreor wfme # vie @l wa
fFgad
1. St \
. @
I T /qaw
IV. JATeHT
V. arEa /stvsatRmEs
I TE A
(1) I 1L 1,1V, V
(2) 1L, 1,1V, III, V
(3) IV, V, L I, II
(4) IL LI, 1V, V

fie & & - S A A v T E 7
(1)
(2) IFwEm

(3) AIIH.
(4) =g

3 @ -7 stftrm 1 aF T R 7
(1) IFdre (Iae) -

(2) fafra |

(3) Tdra

(4) d=Eqd .

‘SFER F FN FaER A giadq € Hfam @' 78
fF g 7

(1) I WSH

(2) frewe.

(3) Feadh

(4) fem
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7. Which of the following stages is not the

10.

11,

part of Bruner’s Cognitive Development
Theory ?

(1) Enactive stage

(2) Iconic stage

(3) Intuitive stage

(4) Symbolic stage

Morrison has described five steps in his
teaching model at understanding level
which are
I. Presentation
II. Exploration
III. Organisation
IV. Assimilation
V. Recitation
The correct sequence is
(1) LILII, 1V, V
2 LIV 0LV
@) W, V, I, LI
(4) IL I 10,1V, V

Which of the following is not related with
cognitive domain ?

(1) Knowledge

(2) Application

(3) Valuing

(4) Understanding

Which of the following is not the curve of
learning ?
(1) Convex

. (2) Combination type

(3) Concave
(4) Longitudinal

‘Learning is any change in behaviour,
resulting from behaviour’ who said it ?

(I) Crow & Crow
(2) Guilford

(3) Woodworth
(4) Skinner

[P.T.O.

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



https://icecreamapps.com/PDF-Editor/upgrade.html?v=2.56&t=9

This paper has been downloaded from the Grow More Online Study App

\

12. Match the List - A and List — B.

12. T - AT g - B A gt i

@—A W_B Iéist-A : BLis't—B *
a. g« 1. gFrae e wform a. Bruner ’ ma;s;glteac ing
b. g 11w Rieor b. Ausubel Il Synectics teaching
; i model
c. TSR 1. finy wae fegor c. Glasser I, Advance organiser
PILEIC teaching model
It d. Gordon IV. Concept
d. e IV. Tegd 39ty 5 L
FRregor s teaching model
V. g=81 PN BT EIC V. Inquiry training
a b ¢ d model
b ¢ d
) M 1 0V :
. (1) m 1 I Vv
e A BLOW 3 2 Iv m I I
B) Iv. I I I @3 IV I I I
4 1 1 I Vv @1 oIV

13. THEI GHTYH T 9107 8 13.. The first step of problem solving is
(1) afeRer 1 Fwfor (1) Formulation of hypothesis
(2) TuEn & 99 (2) Identification of problem
(3) Aiehel HUET- (3) Data collection
(4) URGhedHT &1 gl&o . (4) Testing of hypothesis
14. ST 1 AT Haiiies T9Ee 8 S 14. Learning of children will be most effective
form ofE B AT when
(1) R 5 s = (1) Teacher will lead the learning process
fafsra w@m | " and keep the children passive
A FT GIHAHF, HETHF HEEE (2) Development of cognitive, affective and
(2) S T gl psychomotor domain of children will
vail &1 faem g | take glace i Bt i
: 3) Emphasis will be only on reading,
(3) ‘@-ﬁ'@}'@“ﬁmm“ﬁmﬁm &) writing and mathematical skills
(4) Theor sxaeen wwiftrrard 2 | (4) Teaching system will be autocratic
15. Tgfa Tt G sy w3 feon yam i gETH | 15. Which step is prominent in the syntax
S -g1 g 3w § 7 of teaching model of memory level and
PR ' understanding level ?
(1) dard (2) = (1) Planning (2) Exploration
(3) ETRAERT (4) TR (3) Generalization (4) Presentation
16. THE-FHTE o I g 8 16, Human development starts from
(1) Syamae | (1) Stage of infancy
(2) qd-sTeaEEd A (2) Pre-childhood stage
(3) myfaEn & (3) Pre-natal stage
(4) IR -TTATEET A (4) Post-childhood stage
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17.

18.

19.

20.

21.

22,

‘T I AT ST e ¥ o
(1) et umem  (2) sft.uw, fewmw
(3) 3. uHeR®  (4) awww, W

“foruirrareen 5 wed, 7T, e 3 kY Y avaeen
2 1”78 A Fra R 7 -

(1) A wswH

2) Ve

(3) “efies

(4) Tras .

qew fieor & vl wieowr 3 et e awa
L 0

(1) 30 fiFe (2) 40 fime

(3) 36T (@) 45 fime

“HiE 1 TR Hia it wfeman % g sifires §
S 34 fefa =t were w8 o dias 6 vl
IS I=fa TE Bt |7 78 A feraen B ?

(1) fEFx '

(2) wrferTast :

(3) @I I

(4) T8

WY - A GUT &Y - B I gafad i |
WY - A WY -B
e Rfeem 1L e
Qeod $I Aggel 1L s
groTifar 1 frm 111 gidess
STgFRA v, f&m

a b ¢ d

(1) I v 1 I

2 I IV 1 I

3 1 IV I I

4 0 I 1 I

““Frra @it 7 wHTd €19 aret afE g )
e o farg % o fagra @ gafia 8 7
(1) et @ fagr<

(2) w1 s

(3) =T = fagr

(4) 3¥: gy &1 e

a oo op
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20.

21.

22,

‘The Conditions of Learning’ book is written
by

(1) LP. Pavlov (2) B.F. Skinner

(3) E.L.Thorndike (4) R.M. Gagne

“Adolescence is the 1;criod of great stress,
strain, storm and strike” is the statement of
(1) Crow & Crow

(2) Stanley Hall

(3) Jersield

'(4) Simpson

Total time taken in Indian Model of Micro
Teaching is

(1) 30 minute (2) 40 minute

(3) 36 minute (4) - 45 minute

“Plateaus of learning are a characteristic
feature of the learning process indicating
a period where no improvement in
performance is made”. Who said this ?
(1), Skinner

(2) Hollingworth

(3) Gates and others

(4) Ross

Match the Column - A and Column - B.
Column - A Column - B

a. Animal [. Gestalt
Intelligence

b. Schedule of II. Piaget
reinforcement

c. Law of III. Thorndike
pragnanz

d. Adaptation IV. Skinner
a b ¢ d

(1) m Iv I I
20 M IV I I
@3 1 IV Il It
4 n IV I I

“Development is a never ending process”.
This statement is related to which principle
of development ?

(1) Principle of continuity

(2) Principle of integration

(3) Principle of interaction

(4) Principle of inter relationship

[T
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23.

24.

2S.

26.

27.

28.

Hiaum & e daiem ¥ R v Wit st
CERICIR

(1) 223 go

(2) 254 dmuR

(3) 863 FMwA

(4) 52 d gR

Srfsroon & e -wa s Rrgra % wheres &
(1) faferm s (2) TwTEq AL |
(3) NEg™ (4) R
foremra <t for arareen =it et @ @ 3 ““HaTTeT
e s @ Fwrd ?

(1) TeremRraeen (2) ST

(3) SvraTEET (4) e

T wrgfamrene: w1 wega fean 7

(1) TEXW (2) TS

(3) e (4) SHIW
femafeaan 3 78 w01 § wford a2

(1) Se=d (2) FFRFAL

(3) W&/ /adH | (4) @eaad

T 3 & v e e o fiveres B g A R 7

(1) forerer = die o s1am =0t srfafaa gwa 3
L

(2) Terers = F:vre sreal 9t oM € S AR

(3) ==a #i IavIHA & ATEY ¥ H i
HTEYT HAT 1Y

(4) e =t a=ai & MewTfed s =Ry

29. F&H BHEI H YH [BA & foIu

(1) ergafa 7€ i =nfég
(2) SawFETEfer .
(3) EdIHIRd FT =IfeT
(4) U 1 =R

30. =3 I gfg gEId: FEfa ¢

(1) Afce fama @

(2) @it faerra @
(3) Wit fompra &
(4) wrETeHe fasg §
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Through which Amendment of Constitution
education has become fundamental right ?
(1) 22" Amendment
(2) 25" Amendment
(3) 86™ Amendment
(4) 52" Amendment

Instinct Theory of motivation was propounded
by

(1) William James (2) Abraham Maslow
(3) McDougall (4) Simpson

Which of the following stages of development
is called as “A unique stage of emotional
development” by Cole and Bruce ?

(1) Adolescence (2) Childhood

(3) Infancy (4) Adulthood

Who gave the concept of multiple
intelligence ?

(1) Gardner (2) Spearman
(3) Golman (4) John Mayor

Dyslexia has difﬁculty in
(1) Speaking (2) Expressing
(3) Reading/Spelling (4) Standing

Which of the following is not the role of

teacher in inclusive classroom ?

(1) Teacher should devote extra time to
teach learning disabled

(2) Teacher should not pay attention to
differently abled child

(3) Make adequate seating arrangements
according to the requirement of the
child

(4) Teacher should encourage the children

In the class, questioning by students
(1) Should not be allowed

(2) Should be encouraged

(3) Should be discouraged

(4) Should be stopped

Growth of a child is mainly related to
(1) Moral Development

(2) Social Development

(3) Physical Development

(4) Emotional Development
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WU - II/PART - II
WISt - I : it / Language - I : HINDI

31, ‘HiEgci i s ¥ A em-mams 7 34, ‘wfien’ & WA A E 7
(1) SR 7w (1) s
(2) U= FH (2) T
I (3) el vt -
(4) TERH FRF 5 i
_ _ 35. WA FA-TIE 7
FrafaRes menw i
. TEH U 6. 32 T 33 ¥ I Afvyu | (1) =im (2) 3
meiae § oo sk s e @ e frer (3) W (4) 3
2 | 78 39 are i fasivar 3§ :
® 1 o e & o o e 36. MIAWE@IE § g FFH-TEIS ?
A I T -faeSe S A AT 9eR 9% 3 TR (2) wEET=
TR | H9 ) Ffe o fva frer @ smen 9 3 (3) T .
F1 MefaTE i woy AEwEa 2 | e | e . S
ﬁmmﬁm’%ﬁ@mwﬁmﬂm%m 37. ‘few v uftaw fom oeh g |
TR B ST @ | mdiae d g & e #E e T A SR e T o
T 2 | 3 IO F1 g HA & fore s 3 orge Sfa 79 2R H H-T1 AR E 7
w1 Aferer & fean = | (1) ¥ & w5
. (3) 3w (4) &
32. I9YF TV % YR W FATY foh HAR F AR 18
i % 38. ffafeaadasR-mus G ?
- 2 3
(1) addH o m ? W
(3) 3. (4) @
(2) @RI aF
@) T 8 o 39, PEidfrmyR AT ?
(4) ATHT dH ) ; W
(3) sty (4) wi=h
33. Iuda meriwr A wiefare & AR R aarE TR 7 R . ——
(1) TR s i AR (1) Ivemrerer fRramor i qft w
(2) wFEEn & sveaTe & (2) |wWa 9 FEf W
(3) Thfe i amanfere e (3) wifter fRar] & 1 W
(4) v Foreat airc < Feferan =0t (4) TR o T o e TEEH W

[ P.T.O.
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w2 R o v ) v feRifea y@ den 41 @
42 % wdl fawey Bty

e R T el STHUR Yo Sie | Jue THeh
o7 9 5 BfY Wifew wre swer )

HER ¢ T TE S FUS St Fie |

Trarrat s = ‘e’ sfer s dens e A

41.

42.

43.

44,

45,

UV S PA-aT R ?

(1) @

(2) I .

(3) eI

(4) FRE

W R FEa TR ?

(1) =R (2) gEE

(3) (4) g
IR TH H g A A e g R 7
(1) ¥ - - (2) §-%=

(3) w-7d= (4) 9 -%@

frffiaa @ FR-a1 wu s R 7

(1) foeribgaanig

(2) REAIF IO ARE AR |
(3) BN TSIV ST o IRV U 6T B FehelT 2 |
(4) ‘% g | ‘

T ot A B 1 < wrer e o AT e
F fore & - forepew amgrg 2 7

(1) THa=a

(2) i

(3) gfewm

(4) “ga=m
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fmfeaftaa § & PH-w e agpE & 7
(1) =1y

(2) @

(3) Prgd

(4) T4

i dR-m o= =g ?
(1) weeld
(2) @
~(3) '™
(4) @

Bt & i =itelt 1 a1 T @
(1) g =g = 3=t =i &
(2) Thren smerart '

(3) ri =R ) ared) <
(4) feren = it T

‘Fae wafy-Te e ?
(1) =T+ a2
(2) *% +3
(3) H+R
(4) =+

‘e’ vree W T R
(1) ges qo

(2) &5 T

(3) THURT g
(4) fogwma

Tl 1 e vres e
(1) e

(2) &

(3) <I&gd

(4) fdrm
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AR O OO A
52. ‘Y w faem e R 57. gia il |
kil S 1. et mfter et A. 1893
) f=m
I1. el Fordt enfoft @ B. 1918
(3) T
@) TH . ey yer afufa, auf - €. 1910
I I I
53. fmfifad faeweqi d e feres 3 fado =1 sy
(1). cC+-A B
ST !
(1) S - QUi s | 2 C B A
(2) THU - FHAEH 3 A B C
(3) < - yquier ek _ 4 B A C

(4) FETH - IS Ao i -
| . 58. ‘Jewfierd’ ¥ TR &
54, ‘Y WA QS AT 919 § QAT % fRE WE F

(1) =T TafeemE i
|IRATE ?
(1) T I HaA™ @)
(2) v AT gEm @) werdiw
(3) Tetara® gaam SFY (4) TFRa fardt Foer
(4) YETES GEAH %
. 59. ‘1Y AT ATHSHAT fhhi B ?
55. Ffafga 3@ F9-ar s gfeam @ ? i ‘st
(1) ga=
(2) w9 EAH
(2) = '
(3) ST . (3) q:!\l]’s’]’ﬂ‘
(4) weEt | (4) gWad

56, ma&aﬁﬁ%ﬁ.aﬂéﬂmm-ﬁmﬁ 60. ‘T g e & T Fre A R ?
&1 FEl STTHA B (1) .
(1) =egaren, Rysmen, R fRueo, gy

2 w
(2) wyIe, AyaTe, Ay, fFrm fmem S
(3) W, SgaTer, g, Fran fww (3) R
(4) T Fweron, wegTen, Ay, YT (4) TR

- [ PIT.OI
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61.

62.

63.

64.

[

9T - III/PART - III
Wt - II ; 3frst / Language — II : ENGLISH

In which of the following sentences is the

subject of verb a feminine gender noun ?
(1) All the female members have arriyed.
(2) All the young men have arrived.

(3) All the male members have arrived.

(4) All the old men have arrived.

The method of teaching in which the
teacher tries to establish a link between
the foreign language word and the object
without the interference of the learner’s
mother tongue is called

(1) the direct method

(2) the bilingual method

(3) the structural method

(4) the grammar-translation method.

If you are testing your students’comprehension
of written English, you are testing their
understanding of what they have just

(1) written

(2) listened to .

(3) read.

(4) spoken

Choose the correct sentence :

(1) Piease listen to your teacher, -

(2) Please listen towards your teacher,
(3) Please listen your teacher.

(4) Please listen of your teacher,
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Find out the correct sentence/sentences :

(1) Idon't believe him..
(2) Both of the above
(3) T'am not believing him.

(4) None of the above

Point out the sentence which is in past

perfect tense.

(1) He studied many hours everyday.

(2) We were listening to the radio all
evening.

(3) I had written my letter before he
arrived.

(4) It was gétting darker.

Fill in the blanks with the correct article :

Neil Armstrong was first man to

walkon ____ moon.
(1) a, the i
(2) the, the

(3), an, the

(4) an, a

Fill in the blank in the following sentence :

The teacher has been teaching for
hour,

(1) a

(2) two

(3) an-

(4) three
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69. Add the right suffix to pluralize the word
o,
(1) —en (2) -ies
(3) -es 4) -s

70. Change the word ‘grow’ into a noun by

adding one of the suffixes given below.
(1) —ing (2) -s
(3) —th. 4) -n

Direction : Read the passage given below and
answer the Question Nos. 71 and 72 given below.
Each question is followed by four answers only
one of which is correct. You have to choose that

correct answer.

To forgive an injury is often considered to be a
sign of weakness ; it is really a sign of strength.
It is éasy to allow oneself to be carried away by
resentment and hate into an act of vengeance
but it takes a strong character to restrain those
natural passions. The man who forgives an injury
proves himself to be superior of the man who
wronged him, and puts the wrong-doer to shame,
Forgiveness may even turn a foe into a friend. So

mercy is the noblest form of revenge,

71. The word strength is a

(1) Common noun
(2) Abstract noun
(3) Material noun

(4) Collective noun
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72. One who does not take revenge is

(1) a weak man

(2) a foolish man
(3) a strong man
(4) a foe .

Dir:ection : Read the following poem and answer
the questions set below it. (Question Nos. 73 and
74)

She dwelt among the untrodden ways

Beside the spring of Dove ;

A maid whom there were none to praise

And vefy few to love.

A violet by mossy stone
Half-hidden from the eye !
Fair as star when only one

/

is shining in the sky

73. What is the meaning of the Wofﬂ untrodden’ ?

(1) Unexplored
(2) Hidden

(3) Explored
(4) Explicit

74, Identify the correct figure of speech used

in the second stanza.
(1)
(2)
(3)
(4)

Metaphor
Alliteration
Pun

Simile .
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Which of the following sentence/sentences
is/are correct ?

(A) There is few hope of his recovery,

(B) He showed few concern for his

nephew.

(C) He showed little mercy to the
vanquished.

(1) Only (A)

(2) (A), (B) and (C)
(3) Only (C)
(4) None of the above

Which of the following words is not a
co-ordinating conjunction ?
(1) and (2) if

(3) but @) forg=

Fill in the blanks with appropriate

prepositions :

His thirst knowledge left him no

leisure - anything else.
(1) by, by
(2) on, on
(3) at, at

(4) for, for

The word ‘fast’ in the sentence

‘He is a fast writer’ is
(1) a conjunction

(2) an adverb

(3) anoun

(4) an adjective.
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79. Which of the following is not a simple

80.

81.

82.

sentence ?

(1) I have a very costly book in my
house.

(2) She reads what she likes.

(3) She does not know good manners.

(4) He is a man of great knowledge.

The sentence

‘He will be playing the piano in the concert
day after tomorrow’ is in

(1) Future Indefinite Tense

(2) Future Imperfect Tense

(3) Present Indefinite Tense

(4) Future Perfect Continuous Tense

Which of the following alternatives is
grammatically correct ?

(1) All these men are gentle..

(2) All these man are gentle.

(3) All this men are gentle,

(4) All these mans are gentle.

Fill in the blank with appropriate preposition

Hecametome ______ midnight.
(1) in
(2) on
(3) at.

(4) upon
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Which of the following sentence does not

have an adjective clause ?

(1) The man who is truthful is loved by
all.

(2) I'met him where he lived.

(3) Ilove the man who is 'truthful.

(4) Imet himin Prayagraj which is a holy
city. |

Fill i_n the blank with correct preposition :

He is junior me,
(1) than
(2) with
(3) from

(4) to

Fill in the blank with correct conjunction :

Either he is mad
(1) and

he feigns madness.

(2) nor
(3) so
(4) or

Which of the following sentences is in

Passive voice ? ‘

(1) Someone may steal the bicycle.

(2) Some boys were helping the wounded
man.

(3) The teacher scolded him for being
late.

(4) My watch was lost. -
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Which of the following alternatives is the
correct passive voice form of the following
sentence ?

‘Do it’

(1) It be done

(2) It will be done

(3) Itis done

(4) Let it be done_

Which of the following words is plural ?
(1) Index

(2) Analysis

(38) Crisis

(4) Criteria

Which of the following nouns is in plural ?
(1) news .

f2) electronics

(3) mice

(4) billiards

He was an orphan and lived with his

uncle,

In the above given sentence identify the

gender of the word ‘orphan’.
(1) Masculine Gender

(2) Common Gender

(3) Feminine Gender

(4) Neuter Gender

[P.T..
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i / MATHEMATICS

91. THIFdH =R 60“/‘;?:‘?!3%3@“3@%3@ 91. The length of rectangle is increased by 60%.
e wiwra it aoft s 2t Rradl sivra =1 8t By what percent would the width have to
EC i be decreased to maintain the same area ?
(1) S50% (2) 125% (1) 50% (2) 125%

(3) 75.5% (4) 37.5% (3) 75.5% (4) 37.5%

T 92. UE YA T A GEATHE ®9 H I3GH YW A [ 92, The volume of a cube is numerically equal
?ﬂa'l'é * AN F TR | Waﬂwm A to sum of the length of its edges. The total
T R surface area of cube in square units is
(1) 12.4 (2) 72.0° (1) 12.4 (2) 72.0
(3) ©4.5 (4) 44.2 (3) 64.5 (4) 44.2

93. 2018 MMAH AT 1,26,5008 1T420164 | 93. Aanjlit’s ?alglg'liél h2015} is Rs. 1,2;161,580.11615

ITH AT wfgas FH: o), TEFT salary for as risen annually by 10%
arﬂg S 15/33_#&_::{?18? and r?’YS% respectively to reach 2018 salary
%?{-‘-T‘aaaq?wm 194 2016 H 36 o ! figures. What was his salary in 2016 ?
(1) ¥ 95,000 (2) ¥ 1,25,000 (1) Rs. 95,000 (2) Rs. 1,25,000
(3) ¥&1,15,000 (4 ¥ 1,00,000 (3) Rs.1,15000 (4) Rs.1,00,000
94. OITEI FHETH GHIIAdS 6 T THTH HANGAE | 94, The }éc}?f ofnvof?;:mbers I;s 6 a:;csl tlftlttliir LtEM
; ; : is 432. If one of the number is 48, the other
4322 |aR T e 48 ¥ gEA wEA R S
(1) 52 (2) 42 (1) 52 (2) 42
(3) 27 (4) 54 (3) 27 (4) S4
. frftvR s dmo R edfia@ R ggaad | 95. Ifthird Friday is on 16 of month then what

98 o e R T T ? will be the date of fourth (4*) Tuesday of
Fet =i B = A LE same month ? i
(1) 20 2) 27 (1) 20 2) 27 -

@3) 22 (4) 29 (3) 22 @) 29

Ergeren fiem & fra wfid 8 & 7 96. How many vertices are there in a triangular

e e prism ?

(1) A (2) 6 (1) 4 2) 6

3) 5 (4) 8 3) 5 (4) 8
97. 70F 6 NAFA TR I6 T 4R q@a= [ 97. Whatwill be the loss percentage, if bananas

' ot foras widwd erfa gnfi 7 purchased 6 for ¥10 and sold 4 for 36 ?
(1) 10% (2) 5% (1) 10% (2) 5%
(3) 6% (4) 20% (3) 6% (4) 20%

TF FTd % foT0 51778 /SPACE FOR ROUGH WORK
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99.

100.

98. faw o o forq -a @ e wd € 7
1T = for.m.
A 1 fam B. 107 f.m.
1000
C. 0.0001f®sm. D. 1000 fa&.m.
(1) B, C (2) A,B
(3) A, C (4) C,D
(0.01)? =i wfewr F &9 # foras w
A. 0.01% B
100
0 1 0,
il D. 007
(1) A B~ (2) B,C
(3) A, C (4) A, D
uﬁaﬁwﬁmmwmm:smas
B Q1 37 SgehHl T IR B
1) 2 2) 2
(1) = (2) 5
31 9.
@ o @ z

101.

102.

T HR I =18 10% TR TRt a9 e 20%
et Tt Safh e 5% Ferh it | 39 YRR T

& Fra § e giorerd w1 aftad gan ?

(1) 24% (2) 24.4%

(3) 24.2% 4) 24.6%

fordft wmt & 15 . 17 It o=t 2w 9 . 2 ot
1S T OIS ST HehA ATt AR Z1ga Sht =gHaH
we fradt B 7 S

(1) 814 (2) 841

(3) 820 (4) 840

98.

99.

100.

101.

102.

Which one is correct in the filling space ?

1 gram = kilogram.

A L kg B. 10°kg
1000

C. 0.0001 kg D. 1000 kg

(1) B,C (2) A, B

3) AC 4 CD

(0.01)? can be written in the percentage form
1

A. 0.01% B. 100
1
C. 1% D. 100%
(1) A, B (2 B,C
(3) A, C 4 AD

If difference and pfoduct of two numbers
are 5 and 36 respectively, then find the

difference of their reciprocals.

5 il
1) = (2) =
(1) = (2) B

31 9.
@) 36 @ 3

If the length of a room is decreased by 10%
and breadth is decreased by 20%, while height

is increased by 5%, then what percentage
changed in the volume of the room ?

(1) 24% (2) 24.4%

(3) 24.2% 4) 24.6%

If length and breadth of a room is 15 m
17 cm and 9 m 2 cm respectively. What is
the minimum number of square tiles which
is fit for that ?
(1) 814
(3) 820

(2) 841
(4) 840
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103. TUFHA (2153)'7 & gohrd w5y i B 103.  Unit digit of the multiplication of (2153)'¢" is
(1) 1 ) 7 (1) 1 2) 7 |
©) 3 (4) 9 (3) 3 “w 9
104. Hﬁ@ﬁ?ﬁimﬁa20% GﬂIEH%EE'IEﬁI 25% | 104. If we increased 20% in numerator and
EHRGRI d 25 % in denominator of a fraction then it
F1 T ST, <t fyy = ST R, A et v 3 at acti en i
” 3 8 is g,then the original fraction is
= 2 = 3 8
8 @ 3 i) = @ 2
(3) S 8 g g
2 4) = 3) = 4y =
8 | = (3) 3 (4) -
105. 8 ¥ WISd 2R areh g 105. The numbers divisible by 8 are
i. 5240 . ii. 5220 i. 5240 ii. 5220
iii. 97128 iv. 97124 iii. 97128 iv. 97124
(1) idmii (2) 1, iii 9 iv (1) i and ii (2) i, iii and iv
(3) i @ iii (4) i iii 3) iiandiii  (4) iand iii
106. T WETIRE e 91 i, Rrehl sei 9 9= | 106, Find Pythagorean triplet of which smallest
82| number is 8.
(1) 6,8, 10 . (2) 8,9,10 (1) 6,8, 10 (2) 8,9,10
(3) 8,15, 17 (4) 8,64,512 (3) 8,15,17 (4) 8,64, 512
107. Z %A 71 Hf0 2R G 41728, 9 s | 107, Find the value of Z for which the number
2| 41728 is divisible by 9.
(1) 3 2 7 ; (1) 3 2 7
(3) 6 (4) 9 (@) 6. (4) 9
108. TR 2160 = 2°x3°x5, W 3" 2 x5  FHAATW | 108. If 2160 = 2°x3°x5", then find the value of
i 3'x27x5™",
1 81 i - 2 =
(1).2_ (2) i ()2 ()40
37 37
&l 3 iy ==
@) 0 ®) 39 M * 59

I% 14 & 170 S8 /SPACE FOR ROUGH WORK
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109.

e ST FR e R, x A B 109. Find using side figure; the value of x is
64 64
= 1 27 V1
8 2 8 2
X 3 X 3
4 4
(1) O (2) 5 (1) 0 2) 5
3 1 (4) 6 | (3) 1 (4) 6
110. feht S o wgers T P s W 3 110. Mode of distribution can be obtained
(1) 3w faagm : from
(2) ‘¥ v’ Helt Srv=IRE 93 B g; IP;[isti)g;&ufrl ,
3) VTR Fof STOERan ore than type ogives
() . e (3) Less than type ogives
(4) “ﬁﬁ”@ﬁm (4) Frequency polygon
a+b b+c c+a '
1. W ——=——=— =k B, AKTARY | 121, 122D _DHe_C*8 g pen the value
c a
of K is
1 1 2 1 - ' %o
2 (1) 1 (2) -
3 2
B o @) 2 @ 3
112. F=fifad 3 4 € 3 A 1 S +icd ﬁ'ﬂ"-’rﬁﬂ?{ 112. The number of possible triangles with any
TR ST Ghd & 7 e 6 79 1.2 341, 4.2 ot three of the lengths 1.2 cm, 4.2 cm, 5.9 cm
5.9 afvg. 1 aft | and 8.1 cm is
(1) @~ (2) & - (1) One (2) Three
(3) @ (4) =R (3) Two (4) Four
113. WA F R, SWMHIH A1 IRm & | awd | 113. '{}llue dgnog}infgor of a fr?ctiocl)l is dld_more
; ! an double the numerator.
2 ihg 13 H A 3 IR WHEA 1 Wﬁlﬁ% 1 to the numerator and sul:?tﬂ’acgnag 3111:11%11%
= 3ma Ffsrg | the denominator, we obtain 1. Find the
4 2 ongm4al fraction.
i =5 2) ¢ 3 2
? ? M 3 @ 3
1 1
3 = 49 = = =
()9 ()3 @B g (4)3
T% T4 o {10 97T /SPACE FOR ROUGH WORK
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114. WA HifT (-9) - {(-8)+ (24 + T3 - 7) 114, Simplify (-9)-{(-8)+ (24 +13 - 7)
(1) 5 ‘ (2) -8 (1) 5 (2) -8
@ =8~ . (4) T & B T (3 -5 (4) None of these
115. 3R WA (a, 8) = 4 3RAH. (a, 8) = 24D, @ | 115. If HCF (a, 8) = 4 and LCM (a, 8) = 24, then
‘a’ T U 8 ‘a’ is
(1) 10 2) 14 (1) 10 (2) 14
@) 12. (4) 8 (3) 12 (4) 8
116. Tt SR @a w1 et 17 et @ wham | 116, Diagonal of a rectangular field is 17 metre
46 et & T G =1 ke e and perimetre is 46 metre then area of the
ill b
(3) 120 H2., (4) 289 w2 (3) 120 m? (4) 289 m?
117, {(27Y))' S Geelieor @ I e grft 117. On simplification {(2-')}!, the number will
A. IS & B. &= be
HuED g g A. Prime number B. Even number
- S - C. Multipleof 2 D. Odd number
W &B,C R84 D (1) A,B,C () A C,D
38) B,C,D (4) A, B,D (3) B,C,D (4 A, B,D
118. Fefdfaad@sR-mFAERe? 118, Which one is correct in the following
(1) 33T GEATS! o AT Hed 3T T&AT statements ?
S (1) Sum of two prime numbers always
' . prime number.
(2) Uk WY T fawm gt aerd! 2 | (2) A co;nposite number may be odd
a8 SIS T number.
(3) Gl : 121 (3) Least prime number is 1.
(4) FETHIAMSIEEI ARl (4) Even prime number does not exist.
. Td T AT 60° @l | 119. The difference between the interior and
119. TH=gYs % 3T qa En;] i exterior angles of a regular pelygon is 60°.
‘_"Wﬁ -gmaﬁaﬁl e The number of sides in the polygon is
1) 4 (2) 6 (1) 4 (2) 6
= @) S @) 7
(3) 5 4 7
120. U G v W e faged i wem A B 120. ’ll;llllz t;;.lmber of points present on a straight
(1) @S~ (2) 2 (1) infinite (2) 2
3) O (4) 1 3) O 4) 1

T FT4 % ToT¢ 91T /SPACE FOR ROUGH WORK
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121, RT3 wftenedi & RR smeam 6 smwn wwi g 7
(1) < awr
(2) whea#
(3) foum wwr o
(4) T O g A |
122. Tt o 3 roarrer ot Frgfer 3 Rrg o & @
30 B =RY ?
(1) 35a¥ .
(2) 5099
(3) 45ad
(4) 309
123. Gl - 13 EH - I g FA R ad R T |
gt -1 et - 11
a. W gy A, WU Tt
b. U B. ¥
c. TR fm C. T=aret
d. T geE D. 3
C T4
a b c d
() D A B C
@ a ¢ D B
3 B € D A
4 C D A B :
124, =08 356 F NUH YA Fd 3R el garn 7
(1) feem 1958
(2) R FWR 1956
(3) e 1959
(4) e WeN 1957
Paper — 1/B
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121.

122,

123.

124.

Reservation for women in India is available
in

(1) Lok Sabha

(2) Cabinet

(3) Vidhan Sabha

(4) Panchayati Raj Institutions

In order to be appointed as the Governor of
a State, one must have attained the age of
(1) 35 years

(2)
(3)
(4)

50 years
45 years
30 years

Choose the right Code after comparing List 1

 with List — II.

List - I List - 11

a. Indian Union Prime Minister

b. State Sarpanch

A.

B.
c. Corporation C. Governor
D.

d. Village Panchayat Mayor
~Code :
a b c d
M) D A B cC
2 A C D B
(3) B Cc D A
4 C D A B

When and where, Articie 356 was used first ?
(1) Bihar 1958

(2) Jammu and Kashmir 1956

(3) Kerala 1959

(4) Madhya Pradesh 1957
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125. TR S0 -1 TR T o v d 7

125.

Which tax can be imposed by Nagar Nigam ?

(1) TRSA & (1) Entertainment Tax
(2) gh R (2) Toll Tax
(3) Te (3) House Tax
(4) ST - (4) All the above
126. gﬁl%ﬂaﬁmﬁmﬁa%? 126. Hamlet is associated with which settlement ?
(1) swaEfeg (1) Fragmented
@) it (2) Linear
(3) T (3) Rural
(4) TR (4) Urban

137, aﬁ?-—ﬁv—vﬁmg@‘ma‘a%'?

127.

Which is volcano mountain ?

(1) 3vuaet (1) Aravali

(2) <R (2) Appalachian
(3) I (3) Ural

(4) Tefomsm @) Kilimanjaro

128. UcT%uer 29 srafed 2

128,

Elephanta Island is located at

(1) F=B (2) g ae (1) Kutch Coast  (2) Mumbai Coast
(3) TMETHEE (4) T S (3) Goa Coast (4) Ganga Delta
129, HEHH F IR SITd & STel 9t sl 129. Monsoon forests are found where rainfall is
(1) 70 - 200 & (1) 70-200 cm
(2) 50— 150 &t (2) 50-150cm
(3) 150 — 200 & (3) 150 - 200 cm
(4) 70 - 100 & (4) 70-100 cm
130. el e Yo foawam 130. Karbi Anglong Plateau is an extension of
. (1) g ISR & (1) Peninsular plateau
o 2) Tibet
2) i :3: Hir:alaya
g &
) g (4) Shan plateau
(4) M TR F
131, Which is the example of sessile animal

131. ﬁmﬁﬁﬂa-mm"’mﬂwt?

among following ?

(1) Zeraeen (1) Euplectella
(2) @®rFeT (2) Chiton
(3) Leech
) BN (4) Echinus
(4) ¥

[ RT.O.
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132, W 37opit o ges & 132. Unit of protein molecule is
(1) (1) Glucose
(2) o (2) Amino acid
(3) WW ' (3) Fatty acid
(4) T (4) Vitamin
133. %ﬁTﬁ%mﬁq-m T YTQY e ST AT | 133, Which organelle is absent in plant cell ?
' (1) Cellulose cell wall
(1) S Sl fafy
) R _ (2) Vacuoles
(3) REED (3) Plastids
(4) REHH (4) Centrosome
134. b3 & YRR & gad o uf 3 134, Largest gland in human body is
(1) ARE : (1) Pancreas
(2) AfergTs afy - ' _ (2) Adrenal Gland
(3) e of=r (3) Pituitary Gland
(4) aFd (4) Liver
135. 39 Yo 1 U= waft 135. State bird of Uttar Pradesh is
(1) |RE A . (1) Sarus Crane
(2) Tf’ﬁ“m (2) House Sparrow
(3) AR (3) Peacock
(4) drar (4) Parrot
136. fr=fafaa 3 @ frg v 3 Wegt g smar 2 7 136. In which of the following regions Reindeer
(1) 2UgT 9 - ' are found ? '
y (1) Tundra
(€} A (2) Monsoon
(3) ﬁmﬁ ' (3) Hot Desert
(4) 2m (4) Taiga
137. fafifed # @ F-a1 o Mdw g e 7€ & ? | 137. Which one of the following is not a
: temperate grassland ?
(1) A (2) I 0 P
(1) Pampas (2) Downs
(3) FPITE (4) Yaty (3) Compas (4) Prairies
138. SIEREAT % 3TN & SIJAT JETH AT o 138. According to population size, the largest
(1) '{{ﬁq _ (llontinent is
b e
(3) It mfew | 5 (3) North America
(4) 3T (4) Africa

Paper - 1/B

This PDF document was edited with Icecream PDF Editor.

Upgrade to PRO to remove watermark.
Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click


https://icecreamapps.com/PDF-Editor/upgrade.html?v=2.56&t=9

This paper has been downloaded from the Grow More Online Study App|

R0 A
139, WRA # Y& AW Fel (o wied @ 7 139. Where does Tharu tribe live in India ?
(1) oW weEed | (1) Thar Desert
(2) IU@UE H (2) Uttarakhand i
(3) I W AE AT H - (3) Tarai region of Uttar Pradesh
(4) wwEvs (4) Jharkhand
140. fers souma oas fra 140. Bhilai Steel Plant is situated in
(1) "=y weu i (1) Madhya Pradesh
(2) oftwgH (2) Chhattisgarh
(3) wR@ve A (3) Jharkhand
(4) sifsand (4) Odisha
141. GORF SIS TR Sl @uaar, @ ‘@me | 141, The world’s most problematic aquatic weed,
Famas T 98t also known as “Terror of Bengal” is
Yorar 3 , (1) Lantana Camara
1) (2) Eichhornia Crassipes
(2) CEiHar wited (sged) - (Water hyacinth)
] (3) Parthenium hysterophorus
(3) feetiwi ( P ) (Congress grass)
(4) R STz (38 ar) (4) Cynodone dactylon (Doob grass)
142. GTRE $ SIS B H AL 2 142. The abiotic property of virus is
(1) 3o SengTa gt T e s (1) Tt does not have the genetic material
(2) & YA Tl H ehal ' ' (2) It cannot reproduce
(3) 3EH Wi =& st - (3) It does not have protein
(4) zaH farea % &Y o gftafda fomam < gemar 2 (4) It can be crystalized
143. UTRY g S Bl HI IHH F el H § 143. Plant hormone that help in the ripening of
(1) AifFaa : fruits is
— (1) Auxin
@ ¢ (2) Cytokinin
(3) forafer . (3) Gibberellins
(4) FuTEAA (4) Ethylene
144, @ w9 Q g § @ aren samdg siarw] e | 144, Free living, anaerobic, nitrogen (N,) fixing
ATGZISA (N,) feriyaor & taar eidl 8, 98 & ; bacteria found in soil is
(1) TSRETR : (1) Azotobacter
(2) Ffefea (2) Clostridium
(3) uzsiferay - ’ (3) Rhizobium
(4) fafsran (4) Vibrio
Paper — 1/B ’ : 29 S [ 5. 15
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Which type of DNA is commonly found

145. 0 R DNA $iRme & o &0 @ g s | 145.
R? inside the cell ?
(1) A-DNA (1) A-DNA
(2) B-DNA (2) B-DNA
(3) C-DNA (3) C-DNA
(4) Z-DNA. (4) Z - DNA
146. W9 1853 & W et art 3 e of 146. In 1853, India’s first passenger train runs
1 A & g between
(1) ww=dd 0 e
@ 3 3 Ffw (2) Calcutta to Alipur
(@) wAuFdT (3) Bombay to Thane
(4) FoFAT A THEA & o= (4) Calcutta to Damdam
147. W w s EEIRES Hell A B 2 147. Asia’s largest cattle fair is organised at
' (1) shgrd (2) g H (1) Haridwar (2) Pushkar
(3) ®AgH (4) fe A (3) Sonepur (4) Nasik
148. U T TR i wTO g8 148. National Integration Council was established
in the year
. 3850 2),+1971 3 (1) 1951 - (2) 1971
(3) 19617 (4) 1981 % | (3) 1961 (4) 1981
149. FHal % JRFR F1 Ieorg /iauE F 9 =34 | 149, In which of the following Articles of
4 e 2 7 Constitution, the Right to Equality are
(1) 3¥g=a% 19 - 22 . o) mentioned ?
1 i -
2) W 03 _ 24 (1) Articles 19 — 22
; (2) Articles 23 - 24
B) FST14-18 (3) Articles'14 — 18 -
(4) 3T 25 - 28 (4) Articles 25 - 28
150. foFm 2 & erefren wfaum @ R ? 150.  Which country has a flexible Constitution ?
(h S : (1) India '
(2) s | (2) America
(3) < (3) China
(4) Fes fre (4) United Kingdom
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3191/ INSTRUCTIONS

3. . R, I-gras § g oft wlafiz @t A wger guan asht sl w aaueigds g o |
PLEASE READ ALL THE INSTRUCTIONS CAREFULLY BEFORE MAKING ANY ENTRY ON
THE OMR ANSWER SHEET.,

1. 38 Iw-uwh Wt iR wfoad ¥, g@ wfa, 9wl vg anaeff ufy | 8 Faf srem |
This answer sheet consists of three copics, the Original Copy, the Board Copy and the Candidate’s Copy. Do not
separate or displace them. )

2. Tabat afcr-arge 39 = & geme A | W an St 3 1 v e we e B | wf e anenefi ufd i sem AT
Use Black Ballpoint Pen only. Use of Pencil/Gel pen is strictly prohibited. Do not darken the Board Copy and
Candidate's Copy separately.

3. TR, I AW 30 A o o P 7 e | Bad o s e, o e, et @ 1 g afid & 2
W A T el ) sy g S |
Do not fold or put any stray marks anywhere on the OMR answer sheet. Use of any other paper, calculating machine,
mobile, etc., is prohibited and will lead to disqualification. g )

4. INTH . W, R, IN-TTF 1 e gelargiie: LA TETE A TR | ST 7T T T AT .G, I, I A
B 3iR et St 7 6 s | B ' =
Your OMR answer sheet will be evaluated through electronic scanning process. Incomplete or incorrect entries will
render your OMR answer sheet invalid and will not be evaluated. -

5. AW AT G RIS o ORI IR W R | 3.0 3. - o SeerTd s IigAtd e 8 1
Carefully fill in all the necessary particulars ori the OMR ‘answer sheet. Change of OMR answer sheet is not permitted.

6. R 3T 3 I U A tfreh ek ) Hre A &, A ST IR Terd WA S O Iweh st 78 < et | e o wd e/
Tl 1 T T A 3w e E # ad den /et b
1f you darken more than one circle in your answer, your answer will be treated as wrong and will not be evaluated.
While darkening the appropriate circle(s) in the boxes, darken the chosen circle(s) fully as given below :

F&l a1/ CORRECT METHOD Ted s/ WRONG METHODS

oY Jolo OO ORO® O@®0® 00O 00O

7. g 1wl F I FHH IW 1, 2, 3 7 4ﬁﬁéﬁ%‘|mméaﬁmw%aﬂtaﬂm.m. IT-TEF T G M
T R | T g i Se o STt TE B | e & 3R Sl TR, IW-wae W fhen # fore 3R, Areg, =TS, W o Tar/
ATgEAT I 1 wEE wea g '

Candidates have to answer questions from the multiple choice of answers 1, 2, 3 and 4. Select the right answer of
each question and darken the correct circle on the OMR answer sheet. Once darkened changes are not pérmitted.
Use of eraser, nail, blade, white fluid/ whitener etc., to smudge, scratch, damage in any manner on the OMR

answer sheet during examination is strictly prohibited. o

8. ayvyeff gfieq TOTE B TT 37100, 3, I - i) wfe oy e e e e Filiersn o6 e 1 | anearft wf e Frlders g
FH 38 2 A T | el 379 WY 3. SR, FH-wE F oraefi wfa A A ® |
Candiates must hand over the OMR Answer Sheet without separating the three copies to the invigilator at the end
of examination. Invigilator will hand over the Candidate's Copy after separating it. The Candidate can take away
the Candidate's copy of OMR Answer Sheet with him/her.

o, fare +ft ST 1 AU 7 F T AT 1 3N, 00,3, I ST AN I I i T B <y |
In case of any discrepancy in following the instructions, candidate's OMR Answer Sheet will be rendered invalid
and will not be evaluated,

EXAMPLE OF FILLING PROCESS OF

Registration Number Roll Number Q. Booklet| Langunage — I1
OMR ANSWER SHEET Series | Attempted
ik TP [P REgEE St
Candidate must fill all the entries| 9@ Q@ QO VO GV OVOOOVOOVOOOO®|| ® ®
A etrated. For example| @0 @DDDDDOO( DD DD DO DO DO O
as demonstrated. Fof “amPll PO 0 000 QQ(00 000D
s lololo lotolololololo] [ololololalolelol Togolo] |l
Sories B, Language 11 Urdn.  |@@@@OOODODO[ODOOOHH 00 DO D@ =
el efdi sres & ore afafical 2860000006( 066688 ®
el efie e % ST A | 00 0 @ 0 00O 00| @000 0O EOOG|| ©
FAF : 1|516288901 FAFAF ®%9(2%%% %%%?5%8. Semsirit
” ¥ ! g ] n
o ekt 5000000000] 000B00606666| © | ©
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UPTET 2019 REVISED AND FINAL ANSWER KEY DATED 31/01/2020

Answer Key for Primary Level (First Session) (Set-A)
Question| Answer || Question | Answer |[Question| Answer | |Question Answer Key i
No. Key No. Key No. Key No. Question No.| Answer Key
Part - | (Child .
Development and Part - lll (Urdu) Part - Vs{ltinc\;'_lronmental
Teaching Method) akes)
1 3 46 3 61 3 76 1 121 1
2 3 47 2 62 2 Ty 4 122 4
3 2 48 2 63 3 78 2 123 4
4 2 49 2 64 1 79 4 124 1
5 1 50 1 65 3 80 2 125 1
6 ] 51 1 66 1 81 3 126 2
7 2 52 2 67 3 82 1 127 2
8 1 53 2 68 2 83 2.3 128 2
9 1 54 1 69 1 84 2 129 2
10 2 55 3 70 2 85 4 130 4
11 3 56 1 71 4 86 4 131 2
12 2 57 4 72 3 87 2 132 £
13 1 58 1 73 4 88 4 133 1
14 2 59 2 74 3 89 2 134 3
15 4 60 4 75 2 90 3 135 3
16 4 Part - Ill (English) 76 3 Part - IV (Mathematics) 136 4
17 1 61 % 77 4 91 2 137 3
18 4 62 2 78 2 92 3 138 1
19 3 63 1 79 2 93 3 139 2
20 1 64 4 80 4 94 2 140 4
21 2 65 4 81 3 95 2 141 3
22 4 66 4 82 3 96 2 142 2
23 1 67 4 83 2 97 3 143 1
24 2 68 4 84 3 98 1 144 1,2
25 4 69 2 85 3 99 1 145 1
26 1 70 1 86 1 100 3 146 3
27 2 71 2 87 2 101 1 147 1
28 1 72 1 88 3 102 3 148 4
29 1 73 2 89 3 103 1 149 4
30 4 74 3 90 3 104 4 150 3
Part - Il (Hindi 75 2 Part - Il SansErlt[ 105 3
31 4 76 3 61 2 106 4
32 4 77 3 62 1 107 1
33 4 78 2 63 4 108 4
34 2 79 3 64 3 109 4
35 3 80 3 65 2 110 1
36 1 81 1 66 2 111 2
37 3 82 4 67 3 112 1
38 4 83 4 68 2 M3 1
39 1 84 1 69 2 114 2
40 3 85 1 70 3 1156 3
41 3 86 1 71 2 116 1
42 3 87 2 72 2 i 4 3
43 2 88 3 73 1 118 1
44 3 89 4 74 2 119 2
45 4 90 2 75 1 120 4
W o % 202° -
&: Iy > 20! ) e
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UPTET 2019 REVISED AND FINAL ANSWER KEY DATED 31/01/2020

Answer Key for Primary Level (First Session) (Set-B)
Question| Answer || Question | Answer Question| Answer Question [ Answer Key ion N
No. Key No. Key No. Key No. Question No.| Answer Key
Part - | (Child g
Development and Part - Ill (Urdu) Fart Véf;‘(;‘;:;‘me““'
Teaching Method) .
1 4 46 2 61 1 76 1 121 4
2 2 47 3 62 4 77 2 122 1
3 4 48 3 63 3 78 1.3 123 2
4 1 49 2 64 3 79 3 124 3
5 2 50 1 65 4 80 4 125 4
6 1 51 4 66 2 81 3 126 3
7 2 52 4 67 3 | 82 2 127 4
8 2 53 4 68 f 83 4 128 2
9 3 54 3 69 1 84 1 129 1
10 4 55 1 70 1 85 3 30 1
11 2 56 2 il 4 86 3 31 1
12 3 57 1 72 1 87 ] 132 2
13 2 58 4 73 3 88 3 133 4
14 2 59 2 74 4 89 3 134 4
15 4 60 1 75 1 30 1 135 4
16 3 Part - Il (English 78 1 Part - IV (Mathematics) 136 1
17 4 61 1 71 1 91 4 137 3
18 2 62 1 78 2 92 2 138 2
19 3 63 3 79 1 93 4 139 23
20 4 64 1 80 1 94 4 140 2
21 1 65 1 81 1 95 2 141 2
22 1 66 3 82 3 96 2 142 4
23 3 67 2 83 1 97 1 143 4
24 3 68 3 84 2 98 2 144 2
25 2 69 1 85 1 99 4 145 2
26 1 70 3 86 2 100 1 146 3
27 3 71 2 87 1 101 2 147 3
28 2 72 3 88 3 102 1 148 3
29 2 73 1 Bg 2 103 2 149 3
30 3 74 4 9 3 104 3 150 4
Part - [T (Hindi) 75 3 Part - Il SansErlti 105 4
31 1 76 2 61 2 106 3
32 3 77 4 62 4 107 2
33 3 78 4 63 3 108 2
34 3 79 2 64 4 109 3
35 2 80 2 65 3 110 1
36 1 81 1 66 3 111 3
37 1 82 3 67 3 112 1
38 3 83 2 68 2 113 1
39 1 84 4 69 3 114 3
40 4 85 4 70 2 115 3
41 2 86 4 71 4 116 3
42 4 87 4 72 3 117 1
43 2 88 4 73 4 118 2
44 3 89 3 74 = 119 2
45 4 90 2 75 1 120 1
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Answer Key for Primary Level (First Session) (Set-C)
Question| Answer Question [ Answer Question | Answer Question | Answer Key Question | Answer
No. Key No. Key No. Key No. No. Key
Part - | (Child Part -V
Development and Part - Il (Urdu) (Environmental
Teaching Method) e Studies)
1 4 46 1 61 3 76 2 121 3
2 2 47 2 62 3 77 4 122 4
3 1 48 1 63 4 78 2 123 1
4 4 49 4 64 3 79 4 124 1,4
5 2 50 2 65 3 80 3 125 1
6 2 51 3 66 3 81 4 126 2
7 1 52 3 67 2 82 4 127 3
8 2 83 4 68 4 83 1 128 1
9 3 54 3 69 4 84 4 129 4
10 1 55 2 70 2 85 1 130 2
11 3 56 2 7 1 86 4 131 4
12 4 57 2 72 3 87 1 132 4
13 1 58 2 3 4 88 2 133 4
14 1 59 4 74 1 89 3 134 4
15 4 60 3 75 4 90 4 135 2
16 1 |_Part -1l (English) _| 76 1 [Part - IV (Mathematics) 136 3 |
17 4 61 il 77 4 91 4 137 1
18 1 62 2 78 3 92 1 138 2
19 1 63 2 79 3 93 1 139 2
20 2 64 1 80 3 94 4 140 3
21 3 65 1 81 2 95 3 141 4
22 4 66 3 82 3 96 2 142 2
23 1 67 3 83 2 97 1 143 1
24 4 68 4 84 3 98 2 144 3
25 2 69 3 85 4 99 2 145 3
26 3 70 3 86 3 100 1 146 1
27 3 71 2 87 4 101 4 147 2
28 4 72 2 88 3 102 3 148 2
29 4 73 2 89 1 103 1 149 1
30 1 74 4 90 3 104 1 150 1
Part - Il (Hindi) 75 1 Part - Ill (Sanskrit) 105 ]
31 1 76 1 61 3 106 1
32 4 77 4 62 1 107 3
33 4 78 3 63 3.4 108 1
34 1 79 2 64 4 109 4
35 3 80 4 65 2 110 2
36 3 81 4 66 1 111 1
37 4 82 1 67 2 112 3
38 4 83 4 68 4 113 1
39 4 84 3 69 2 114 2
40 1 85 4 70 4 115 3
41 1 86 3 71 4 116 4
42 3 87 4 72 3 117 3
43 2 88 1 73 4 118 3
44 1 89 2 74 4 119 o
45 3 90 2 75 3 120 4
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Answer Key for Primary Level (First Session) (Set-D)
Question| Answer Question | Answer Question | Answer Question | Answer Key | | Question | Answer
No. Key No. Key No. Key No. No. Key
Part - | (Child Part-V
Development and Part - [ll (Urdu) (Environmental
Teaching Method) Studies)
1 4 6 3 61 2 76 1 121 1
2 1 47 3 62 4 T 2 122 1
3 2 48 3 63 1 78 3 123 1
4 2 49 1 64 2 79 4 124 1
5 1 50 4 65 1 80 1 125 3
6 1 51 2 66 4 81 3 126 4
7 3 52 3 67 4 82 1 127 1
8 2 53 2 68 1 83 3 128 2
9 1 54 1 69 4 84 1 129 1.2
10 3 55 3 70 4 85 4 130 2
14 3 56 4 71 4 86 1 131 3
12 2 57 4 | 72 3 87 i 132 4
13 3 58 1 73 1 88 2 133 2
14 4 a9 4 74 1 89 1 134 1
15 2 60 3 75 3 90 2 135 3
16 4 Part - lll (English) 76 1 Part - IV (Mathematics) 136 2
1.£ 4 61 . 77 2 91 1 137 3
18 1 62 3 78 4 92 4 138 3
19 1 63 3 79 4 93 2 139 2
20 2 64 1 80 4 94 2 140 2
21 2 65 2 81 4 95 4 141 4
22 1 66 2 82 2 96 1 142 2
23 2 67 3 83 4 97 2 143 3
24 2 68 3 84 4 98 2 144 3
25 3 69 2 85 1 99 1 145 4
26 4 70 2 86 3 100 4 146 1
27 1 71 4 87 4 101 3 147 3
28 2 72 4 88 3 102 2 148 2
29 1 73 1 89 4 103 3 149 4
30 3 74 4 90 1 104 3 150 4
Part - Il (Hindi) 75 4 Part - Ill (Sanskrit) 105 2
31 2 76 4 61 k| 106 1
32 4 77 1 62 4 107 4
33 3 78 2 63 1 108 4
34 2 79 3 64 1 109 1
35 4 80 3 65 4 110 ]
36 2 81 2 66 4 111 2
37 1 82 1 67 2 112 4
38 1 83 4 68 1,4 13 2
39 2 84 3 69 1 114 1
40 4 85 1 70 3 115 3
41 4 86 1 71 2 116 2
42 1 87 2 72 3 117 4
43 H 88 1 73 1 118 2
44 1 89 4 74 3 119 3
45 2 90 1 75 1 120 4
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